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Wat/s | W®ET/C | WEIt/s | BET/SC | WEt/s | #E T/°C
0 24.333 480 26.481 960 25.66
30 24.332 510 25.484 990 25.658
60 24.336 540 25.552 1020 25.68
90 24.388 570 25.575 1050 25.676
120 24.422 600 25.595 1080 25.68
150 24.448 630 25.613 1110 25.676
180 24.481 660 25.632 1140 25.659
210 24.532 690 25.65 1170 25.671
240 24.544 720 25.652 1200 25.67
270 24.566 750 25.647 1230 25.675
300 24.587 780 25.654 1260 25.665
330 24.613 810 25.673 1290 25.666
360 24.868 840 25.669 1320 25.67
390 25.174 870 25.665 1350 25.672
420 25.293 900 25.679 1380 25.665
450 25.399 930 25.661 1410 25.657

Eif: 25C KAJE: 97. 8kPa

MK LLEFEIE: 0. 0042¢

HEMERTE: 1. 2763¢g

BRI —6.695k] « g

WEt/s | W®ET/C | WEIt/s | BET/SC | WEt/s | #&E T/°C
0 24.336 360 25.093 720 25.765
30 24.341 390 25.309 750 25.764
60 24.344 420 25.46 780 25.766
90 24.378 450 25.552 810 25.758
120 24.407 480 25.622 840 25.766
150 24.423 510 25.674 870 25.764
180 24.444 540 25.699 900 25.773
210 24.449 570 25.716 930 25.757
240 24.454 600 25.736 960 25.772
270 24.477 630 25.746 990 25.754
300 24.497 660 25.757
330 24.677 690 25.76
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Q = (25.766°C — 24.344°C) X 14.30k] - °C"* — 0.0042 * 6.695 = 20.31kJ

~Q  —2031k] 5489k -1
Qum =3 = T2763g 489 mo
3429 - mol™*

Qpm = Qum + 0 X RT = —5489k] - mol™*








